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FHY| <1 | <1 <1 <L | <L <L | << <]
e €0.11<0.1]<0.1<0.1]<0.1{<0.1{<0.1{<0.1{<0.1]<0.1]<0.1]<0.1
) BE () | AAR] <0.1]<0.1]<0.1]<0.1]<0.1]<0.1[<0.1[<0.1[<0.1|<0.1/<0.1]|<0.1]/<0.1[<0.1/<0.1
A <0.1]<0.1{<0.1{<0.1]<0.1]<0.1]<0.1[<0.1[<0.1|<0.1|<0.1/<0.1
B )0.76 10.78 [0.69 | 0.61|0.55(0.60 | 0.58|0.64(0.72]0.690.710.71
;%(mg/L) A0, 48 10.68 |0.51 | 0.47(0.39]0.51(0.52]0.51]0.61|0.640.66|0.58|0.78]0.39]0.60
44)0. 55 0. 74 {0.59 | 0.55]0.46 | 0.55 | 0.56 | 0.56 | 0.63 | 0.66 | 0.68 | 0. 62
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R <1 | <1 | <1 | <1 ] <1< << aa] o«
BerE| <0.11<0.11<0.11<0.1]<0.1/<0.1]<0.1|<0.1]<0.1{<0.1]<0.1]<0.1
& BE () | A& <0.1{<0.11<0.1{<0.1|<0.1|<0.1|<0.1{<0.1|<0.1]<0.1|<0.1]<0.1]<0.1/<0.1{<0.1
S| €001 <0. 1| <€0.1(<0.1|<0.1{<0.1[<0.1|<0.1|<0.1{<0.1|<0.1]<0.1
' B (0. 73 10.72 10.76 |0.68 [0.67 |0.71 [0.68 |0.75 [0.85 |0.78 [0.77 |0.71
% m ot gg(mg/L) Bf&[0.61 |0.62 [0.59 |0.62 [0.63 |0.63 [0.55 |0.59 [0.74 |0.63 [0.67 |0.52 |0.85|0.52|0.67

(0. 65 |0.68 |0.66 |0.65 |0.65 |0.67 [0.63 |0.65 [0.77 |0.69 [0.71 |0.59
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SR <1 | <1 <1 | <1 | <1 <1<l <alalalal«a
B <0.11<0.1]<0.1]<0.11<0.1/<0.1{<0.1[<0.1|<0.1{<0.1]<0.1/<0.1
V& BE () IR <0.1]<0.1(<0.11<0.1]<0.1]<0.1[<0.1]<0.1{<0.1|<0.1/<0.1]<0.1[<0.1[<0.1[<0.1
SR <0.1 ) <0.1]<0.1[<0.1]<0.1{<0.1[<0.1]<0.1]<0.1]<0.1]<0.1]<0.1

f¢r=110. 83 [0.85 [0.75 |0.86 [0.72 |0.75 |0.73 [0.84 |0.90 |0.79 |0.87 |0.81
fé 2 i F%E (mg/L) | #1%]0. 53 |0.74 |0.64 [0.63 |0.68 |0.68 [0.66 |0.67 |0.75 [0.73 |0.72 |0.71 [0.90]0.53|0.73
-#)]0.64 |0.82 [0.70 |0.70 |0.70 |0.72 |0.70 |0.76 [0.78 |0.75 [0.77 |0.76
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Tl <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
g ] <0.1]<0.11<0.1]<0.1{<0.1[<0.1]<0.1|<0.1]<0.1[<0.1/<0.1]<0.1
& BEO(FE) | B <0.1]<0.1]<0.1]<0.1]<0.1]<0.1]<0.1{<0.1]<0.1]<0.1]<0.1]<0.1[<0.1[<0.1|<0.1
SEHI[<0.11<0.1|<0.1]<0.1]<0.1]<0.1/<0.1{<0.1]<0.1[<0.1|<0.1]<0.1
HiE10.60 0.66 |0.64 |0.62 |0.62 [0.64 |0.60 |0.55 |0.85 [0.73 |0.79 |0.80
g ® i 'ﬁ(mg/m 1%]0. 53 0.56 |0.55 |0.57 [0.57 [0.56 |0.51 |0.52 [0.50 [0.64 |0.64 |0.61 [0.85]0.50|0.62
SE$[0.57 10.61 |0.61 [0.59 [0.60 |0.61 |0.57 0.53 [0.71 |0.68 |0.67 |0.68
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i) BE(BE) | Bef%] <0.1]<0.1[<0.1]<0.1]<0.1]<0.1[<0.1|<0.1]<0.1]<0.1]<0.1|<0.1]<0.1[<0.1[<0.1
SEF] <0011 <0.1]<0.1]<0.1]<0.1]<0.1]<0.1[<0.1]<0.1/<0.1]<0.1/<0.1
iE10.79 10.86 |0.65 |0.65 0.63 [0.75 |0.75 |0.79 |0.77 [0.75 |0.83 |0.83
g W e %ﬁ(mg/m F1%0.59 0.71 |0.20 |0.55 [0.59 |0.59 [0.69 |0.73 |0.67 [0.62 |0.74 |0.70 |0.86|0.20/0.70
== L >R
SEHI[0. 73 10.80 |0.59 [0.61 [0.61 |0.65 |0.72 [0.76 [0.72 |0.66 |0.77 |0.75
KE T =X —HEHAT
4 i ok RO B OE %O
MO R BOEAIT 1 TH SiiaEN
BOE MR BRAGEE MBS SRS R HEMB1TH EHAEN
I T JCEERT LT B PEIERG B KREHRATN
WO W B BkdkGE A R K R W 4 TH  EER RN
(= TR 7R R PR 1 TH PEEZ v HE#N




2 ) Fhli K 5 R e KA K
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IHH
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— ke bl (CFU/ml)

| - - - - - .

| <0.001|  <0.001| <0.001| <0.001 0.002| <0.001
Mmook ! F o b A W (mg/L)|H&IE|l <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
SE¥| <0.001]  <0.001|  <0.001| <0.001 0.001| <0.001

B <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
% k& O F o b A& ¥ (ng/l)|HIK <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
S <0. 03 0. 03 0. 03 0. 03 <0. 03 <0. 03

fE| <0.001]  <0.001| <0.001| <0.001| <0.001| <0.001
v H RO EOAEY (ng/L) | &I&| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001

U SEFJ| <0.001|  <0.001| <0.001| <0.001| <0.001| <0.001

54 14.2 16.2 15.0 14.9 14.7 15. 6

®w ot ®m a4 A v (g/l) &K 11.7 14.7 13.6 10.8 11.4 13.7

H St 13.0 15. 4 14.3 12.8 13.0 14.6

15 0.4 0.5 0.5 0.8 0.9 0.8

H 1 7 (ToC)  (mg/L) | fcfk 0.4 0.4 0.5 0.5 0.4 0.5

" ey 0.4 0.4 0.5 0.6 0.6 0.6

5 7.57 7.59 7.59 7.62 7.61 7.54

pH fiE 531N 7.52 7.56 7.50 7.58 7.51 7.54

S 7.54 7.58 7.54 7.60 7.56 7.54

IS B U RER U BE 2L BRERL| B L | BELL

R £ B U BEAR LU BE2 U BERLU| B L Bl

e 0.5 0.5 0.5 0.5 0.5 0.5

=) EOE) | RIK 0.5 <0.5 <0.5 <0.5 0.5 0.5

Ty <0.5 <0.5 <0.5 <0.5 0.5 0.5

e 0.03 0.01 0.01 0.03 0.01 <0.01

s Eo(E) | RIK 0.02 0.01 <0.01 <0.01 <0.01 0. 01

S 0. 02 0.01 <0.01 0.02/  <0.01 <0.01

# i 0. 80 0.78 0.77 0.80 0.73 0.71

ig B ok W F (mg/l) | &K 0.77 0.78 0.70 0.57 0.51 0. 58

: S 0.78 0.78 0. 74 0. 68 0. 62 0. 64

i 15 0.83 0. 84 0. 82 0. 84 0.78 0.79

,g F% =4 iy F  (mg/L) | AKX 0.83 0.83 0.74 0. 62 0.58 0.68

% S 0.83 0. 84 0.78 0.73 0. 68 0. 74
H

Y % KMno, W & &) (mg/L) 0.7 0.2 0.5 0.6 1.1 0.7




<0.001| <0.001| <0.001| <0.001] <0.001] <0.001

10 11 12 1 2 3 EIE= B Q159 NIA)
0 0 0 0 0 0
0 0 0 0 0 0 24 0 0 0
0 0 0 0 0 0
24 -
<0.001 <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24 0.002| <0.001| <0.001

<0. 03 <0. 03 <0. 03 <0.03 <0.03 <0.03
<0. 03 <0.03 <0.03 <0. 03 <0. 03 <0. 03 24 <0. 03 <0. 03 <0. 03
<0.03 <0.03 <0.03 <0.03 <0. 03 <0. 03

<0.001| <0.001| <0.001 <0.001 0.001| <0.001

<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24| 0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
11.9 13.1 16.8 13.5 19.7 11.8
7.0 10. 2 15.0 12.9 17.5 11. 4 24 19.7 7.0 13.6
9.4 11.6 15.9 13.2 18.6 11.6
0.8 0.7 0.7 0.6 0.7 0.4
0.5 0.5 0.6 0.6 0.6 0.4 24 0.9 0.4 0.5
0.6 0.6 0.6 0.6 0.6 0. 4
7.59 7.57 7.59 7.53 7.58 7.50
7.52 7.52 7.54 7.51 7.52 7. 47 24 7.62 7.47 7.55
7.56 7.54 7.56 7.52 7.55 7.48
HIR U BER LU BELR U EERLU|RERL AE L 24 HERL
U BER U BER U RER L BRE2 L BREL 24 B
0.5 0.5 0.5 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5 24 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5
0.01 <0.01 0.01 0.01 0.03 0.03
<0.01]  <0.01 0.01 <0. 01 <0. 01 <0. 01 24 0.03|  <0.01 <0.01
<0.01 <0.01 0.01 <0.01 0. 02 0. 02
0. 81 0. 80 0.75 0. 80 0. 81 0. 80
0.56 0. 70 0.63 0. 74 0.71 0.78 24 0. 81 0.51 0.72
0. 68 0.75 0. 69 0.77 0.76 0.79
0. 84 0.85 0.79 0.83 0. 86 0. 84
0. 62 0.73 0.71 0. 80 0.77 0. 84 24 0. 86 0.58 0.78

0.73 0.79 0.75 0.82 0.82 0.84

0.9 1.0 0.9 0.5 1.1 0.5 24 1.1 0.2 0.7




FhiRE K S Ria KRR K (2D 2)

K / 4 5 6 7 8 9
i 17.7 22.7 24.7 30. 1 30.3 27.3
7K B (O |&KK 15.0 20. 1 23.3 27.3 29.6 24.6
Tty 16. 4 21. 4 24. 0 28.7 30.0 26. 0
] 34.6 39.2 38.5 36. 4 36. 6 38.8
7 iz 7 j B (mg/L) | i 33.3 37.2 38.4 34.7 36. 0 34.5
St 34.0 38.2 38. 4 35.6 36. 3 36.6
L £ (mg/L) 2.0 2.2 2.5 1.4 1. 1.2
il [i73 f& = % (mg/L) 0.98 0. 87 0. 86 0.76 0.88 1.02
it i3 A i > (mg/L) 19.8 19.3 19.9 16.5 21.3 21.8
Bly o v » A @ E (meg/l) 30 31 29 2% 28 28
~ 7 3% ¥ v A B OE (ng/L) 9 9 9 7 8 9
I B 17.0 19.0 18.1 17.9 17.7 19.0
CE S = B . (mS/m) | Flk 15.0 17.2 17.4 15.7 16.6 17.2
¥ 16.0 18.1 17.8 16.8 17.2 18.1
g s 7 i3 F# (mg/L) 9.7 8.3 7.7 7.1 8.5 6.2
| 0,016/ 0.029)  0.019]  0.024|  0.023  0.025
%4 B O m ok B BI&|  0.014)  0.017|  0.019|  0.024]  0.023]  0.020
Sl 0.015)  0.023]  0.019)  0.024]  0.023]  0.022
e fm o e 5 W E (ng/l) 0. 032 0. 027 0.018 0.018 0. 031 0. 022
WO 9RO (O ) (mg/L) <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
7Y 7 s AR Y T A (E/20L) 0 0




10 11 12 1 2 3 %4 =311 4159 R
23.4 19.3 13.1 10. 2 11.5 13.4
19.5 13.7 10. 6 8.3 8.6 12.3 24 30. 3 8.3 19.0
21. 4 16.5 11.8 9.2 10. 0 12.8
32.8 33. 4 34.2 32.8 34. 4 29.1
29. 2 32.2 34.0 31.5 33.0 28.8 24 39. 2 28. 8 34.3
31.0 32.8 34.1 32.2 33.7 29.0
1.5 1.7 1.9 1. 1.7 1.9 12 2.5 1.2 1.8
0.88 0. 65 1.13 0. 66 1.26 0. 64 12 1.26 0. 64 0.88
19.3 17.6 21.3 17.3 22.2 16.7 12 22.2 16.5 19.4
27 27 32 30 31 27 12 32 26 29
8 7 9 8 9 8 12 9 7 8
16. 1 16.0 18.8 15.5 19.6 14.7
12.7 14.9 17.7 15.4 18.8 14.6 24 19.6 12.7 16. 8
14. 4 15.4 18.2 15. 4 19.2 14.6
8.3 9.0 11.6 12.5 12.5 11.8 12 12.5 6.2 9.4
0.026]  0.025| 0.028| 0.019] 0.024] 0.014
0.024|  0.020|  0.022| 0.016| 0.023|  0.006 24/ 0.029/  0.006/ 0.021
0.025|  0.022| 0.025| 0.018/  0.024| 0.010
0.044|  0.008|  0.031| 0.009| 0.016/  0.010 12| 0.044|  0.008|  0.022
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
0 0 4 0 0 0




PR K R da KAR K (2D 3)

A

i 4 5 6 7 8 9
BRI TAEREONAEYW (mg/l) <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
KO K O ZF O b A B (mg/L) | <0.00005 <0.00005| <0.00005| <0.00005| <0.00005| <0.00005
v v kO™ E O A W (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
t EF K O 2 o &t & B g/L) <0. 001 <0. 001 <0. 001 <0. 001 <0.001 <0.001
N7 o ov A A A W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
[if) fi 173 f& = F#  (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
ST kA Ay ROy T v (ng/L) <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
il BeRE 22 B M OV I AN MR ORE 2B R (mg/L) 0.98 0. 87 0. 86 0.76 0.88 1.02
7 v F K O E 0 LA W (ng/l) 0.08 <0. 08 0.08 0.12 0.15 0.11
U EF KO Z o A& W g/l 0.1 0.1 0.1 0.1 <0.1 <0.1
| iy 4 Io4 # (mg/L) <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — ¥ A4 X P+ v (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
YRR YRR E T Y B g | <0.004]  <0.004|  <0.004]  <0.004]  <0.004|  <0.004
Yy m om A &% v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002

Kl 5 7 v v = F L v (gl <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
YU 7 v o = F L ¥ (mg/l) <0.001 <0. 001 <0. 001 <0. 001 <0.001 <0.001
~ Vg ¥ v (mg/L) <0.001 <0.001 <0.001 <0.001 <0.001 <0.001

% M # e (mg/L) 0. 06 0. 06 0.08 0. 09 0. 07 0. 09
7 = = [E{3 e (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = N JL 2 (mg/L) <0. 001 <0.001 0. 002 0. 004 0. 007 0. 004

= ¥ 4 = = B e (mg/L) <0. 003 <0.003 <0.003 <0.003 0. 004 <0.003
Y 7 v ® 7 v ou A &% v (mg/l) 0. 003 0.003 0. 005 0. 004 0.008 0. 005
B # e (mg/L) 0. 002 0.003 0. 001 0. 001 0. 003 0. 001
Wor U N o m X &2 v (mg/L) 0. 005 0. 006 0.013 0.014 0. 026 0.016

A k Uy s w v F O (ng/L) <0. 003 <0.003 <0.003 <0.003 <0.003 <0.003
7 v E Y 7 v v A X ¥ (ng/L) 0. 002 0. 002 0. 004 0. 005 0. 009 0. 005
va = * N L 2 (mg/L) <0.001 0. 001 0. 002 0. 001 0. 002 0. 002
A v A T A F v K (ng/L) <0. 008 <0.008 <0.008 <0.008 <0.008 <0.008
m & k O = o b & % (mg/L) 0.1 0.1 0.1 0.1 €0. 1 €0. 1
TAI =g AR ORZEDEYW (ng/l) 0.01 0. 02 0. 02 0. 02 0. 04 0. 02
M Ok O F o & A& W (mg/L) 0.1 0.1 0.1 0.1 <0.1 <0.1
F r U YA KRB EDLES W (ng/L) 16.5 15.9 17.6 15.0 17.1 19.6
BT A v TRy NEEE) (mg/L) 39 40 38 33 36 37
7R % Vi e ) (mg/L) 79 102 107 92 96 107
e 4 A4 v R om E M A (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
P - *+ 2 2 v (ng/L) <1 <1 <1 <1 <1 <1
2- A F A4 VAL F A — b (hg/Ll) <1 <1 <1 <1 <1 <1
4 A v K om F M A (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 - J — JL H (mg/L) <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
T U FEUCRREODOARE W (ng/L) <0. 002 <0. 002
v o kT E O A W (ng/l) <0. 0002 <0. 0002
= v AL KB EONAEY g/l <0. 002 <0. 002
L2- ¥ 7 wu n = % v (mg/l) <0. 0004 <0. 0004
I L - v (mg/L) <0. 04 <0. 04

w |7 XV - F L ~F L) (mg/l) <0.008 <0.008

;W i) b= ES iz (mg/L) <0. 06 <0. 06

Al 7 s a7 % F = F U A (gl <0. 001 <0.001

;‘ o ok 2 w5 — 2 (ng/L) <0. 002 <0. 002

= 1B K i <1 <1

| e R g (mg/L) 1.8 1.9 2.2 1.2 1.3 1.0

BlLLi- U 7 o o = % > (mg/l) <0.03 <0.03
A F)-t-F F )= —F )L MBE) (mg/L) <0. 002 <0. 002
B S bR B (TON) 1 1 1 1 1 1
Z V. ) 7\ -1.4 -1.3 -1.2 -1.2 -1.1 -1.2
1€ & ES e bl (CFU/m1) 0 0
Ll — ¥ 7 v u=xJF L v (ng/l) <0.01 <0. 01




10 11 12 1 2 3 [EIE e IK s )
<0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003 12| <0.0003| <0.0003| <0.0003
<0. 00005 <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 12| <0.00005| <0.00005 <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0. 88 0. 65 1.13 0. 66 1.26 0. 64 12 1.26 0. 64 0. 88
0. 08 <0. 08 0.10 0.08 <0. 08 <0. 08 12 0.15 <0. 08 <0. 08
<0.1 <0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
<0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002 12| <0.0002| <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0. 06 0.08 <0. 06 <0. 06 <0. 06 <0. 06 12 0.09 <0. 06 <0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
0. 008 0. 001 0. 003 <0. 001 0. 001 <0. 001 12 0. 008 <0. 001 0. 002
<0.003 <0. 003 <0. 003 <0.003 <0.003 <0.003 12 0. 004 <0.003 <0. 003
0. 006 0. 002 0. 004 0. 002 0. 003 0. 002 12 0. 008 0. 002 0. 004
0. 001 0. 004 <0. 001 0. 004 0. 002 0. 002 12 0. 004 <0.001 0. 002
0. 023 0. 005 0.012 0. 003 0. 006 0. 003 12 0. 026 0. 003 0.011
<0.003 <0.003 <0. 003 <0.003 <0.003 <0.003 12 <0.003 <0.003 <0. 003
0. 008 0. 002 0. 004 0. 001 0. 002 0. 001 12 0. 009 0. 001 0. 004
0. 001 <0. 001 0. 001 <0. 001 <0. 001 <0. 001 12 0. 002 <0. 001 <0.001
<0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 12 <0. 008 <0. 008 <0. 008
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0. 02 0.01 0. 02 0. 02 0. 02 <0.01 12 0. 04 <0.01 0. 02
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
14. 2 12.8 15.9 12.9 18.6 12.0 12 19.6 12.0 15.7
35 34 41 38 40 35 12 41 33 37
108 96 113 90 111 92 12 113 79 99
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005| <0.0005| <0.0005| <0.0005 <0.0005| <0.0005 12| <0.0005| <0.0005| <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4] <0.0002| <0.0002| <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4] <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
0. 003 <0. 002 4 0. 003 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
1.3 1.5 1.7 1.7 1.5 1.7 12 2.2 1.0 1.6
<0.03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.3 -1.4 -1.4 -1.5 -1.5 -1.6 12 -1.1 -1.6 -1.3
0 0 4 0 0 0
<0.01 <0. 01 4 <0.01 <0.01 <0.01
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1,3—Y7un7ua~X (D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X ZK) (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0.001 <0.001 <0.001
24 — D (24 — P A ) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T v o = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 - = - — K (mg/L) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
7 ]\ v D% v (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4] <0.0001| <0.0001| <0.0001
7 = =4 iR Z (mg/L) | <0.00005 <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
7 2 ~ = A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = V4 o — JL (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y X ¥ F  F > (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 Y 7 = ¥ & A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A4y 7uaHBH 7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
Ay 7uaF A7 (IPT) (mg/L) <0.003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A 7N KRAXA(IBP) (mg/l) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 X 7 7 Z ¥ v (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v X 7 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
— 2 7 v H ) 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 4T = AR (=Y T =R A EDDP) (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
B 7 = v 7 v v 7 A (ng/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008|  <0.0008
TR TY = (mraxy—u) (ng/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
T RANLNT 7o (R ) (ng/L) <0.0001| <0.0001| <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
F % % 2 7 g X K v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X 8 (F M H) (mg/L)| <0.0004] <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Uy % 2 F v v v (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
71 z B 7N Z (mg/L) | <0.000006| <0.000006| <0.000006| <0. 000006 4| <0.000006| <0.000006| <0. 000006
B 7 = v A k7 — b (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
Vi % v 4 7 (mg/L)

SNy (N A C)  (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
71 Jb R 7 = > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /27 732 (A CN ) (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
X Y - b > (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0.003 <0. 003 <0. 003
7 N JL =4 > (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 ) R A — ~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
J v Ak ¥ x — b (mg/L)

7 o owa X 7 v v 7 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
su)r=ra 7=z (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 oowm b v U A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
souXua=,)L(TPN) (mglL) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 -+ D% > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v ey (DCMU) (mglL) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
7 ur~X=,L (DBN) (mglL) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
ru )R A (DDVP) (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
D4 7 7 4  (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
D ZNVIRR Y (mF I F A ARY)  (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
P4 + 7 J > (mg/L)

CFA I N AN A=FFREIK (ng/l)

D4 va 7 . JL (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o nm R v 7 F b (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y A X A b U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002|  <0.0002
R 8 T — ~ (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v A I ) v (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
Y X ¥ L — k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
X A 7 a4 > (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
vd A VN =i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
y\/“f‘)]\\ A KN (77“/§A) (mg/L)

BEORAF A FF LT F— b
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a 7 2 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
¥ 7 a 2 (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
F X ¥ kv 7 (mg/l) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
FA& 7 7 Fx— b A F L (mg/L) <0.003 <0.003 <0.003 <0.003 4 <0. 003 <0. 003 <0. 003
F 4 X B v 7 (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7> 7 U v b U F v (mg/l)

TITH)IVT (MBPMC) (mg/L)| <0.0002] <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
~ D) V4 =4 L (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
FYVZ ek (DEP) (mg/L)| <0.0002] <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
kU v 7 Z U — L (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
U 7 v 5 U » (mg/L)| <0.0006] <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
+ -7 n 2 3 R (mg/L) | <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
2 5 o — K (mg/L) | <0.00005| <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
£ ~ =4 AN Z (mg/L) | <0.00005| <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
v g 7 v = ) (mg/L)

7 Y % v 7 = (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
IV —k (I L —bF) (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
U X 7 = v F F > (mg/L)| <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
vy 7 F H 7 (mg/l) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
= =4 X = > (mg/L) | <0.0005| <0.0005| <0.0005/  <0.0005 4| <0.0005| <0.0005| <0.0005
7 4 7 = JL (mg/L) | <0.000005| <0.000005| <0.000005| <0. 000005 4| <0.000005| <0. 000005| <0. 000005
Jrx=truF 4> (MEP) @mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7)) 7 V7 (BPMC) (mg/L) <0.0003| <0.0003| <0.0003|  <0.0003 4| <0.0003| <0.0003| <0.0003
7 - D) N ' > (mg/L)

Tz F A (MPP) (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7 vz —F(PAP) (mg/L)| <0.00007| <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v F T H I F (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
- Vi v A F (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0.001 <0.001
7 2 7 = — L (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
-7 vl 2 Ny Z (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 v 7 x ¥ v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002| <0.0002
-7 g 7 7 2 (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F T 7 v — ) (ng/L) <0.0005| <0.0005| <0.0005/  <0.0005 4| <0.0005| <0.0005| <0.0005
7 n D2 2 F > (mg/L)| <0.0009] <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
7 wm  F o+ K A (mg/l)

7 o v a F v — )L (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
- i = N K (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4] <0.0005| <0.0005| <0.0005
7 v N JF Y —  JL (mg/L)| <0.0005| <0.0005 <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 =i Tt - 7 K (mg/L) <0.001 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001
~ ) N JL (mg/L) | <€0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
~N vy = > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N Y v Y 71w v (mg/L)| <0.0009] <0.0009| <0.0009|  <0.0009 4] <0.0009| <0.0009| <0.0009
~N o Y 7 = F v 7 (mg/L)| <€0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ N v > v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
~ v 7T 4 A EF U v (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0.003 <0.003 <0. 003
Ny 75 7 (mg/L)| <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
X7 ) (RA2AaY ) (ng/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007| <0.0007| <0.0007| <0.0007 4] <0.0007| <0.0007| <0.0007
A A F 7 ¥ — |k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
~TF F v (~F Y ) (ng/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa7uay 7 (MCPP) (ng/L) <0.0005| <0.0005| <0.0005/  <0.0005 4| <0.0005| <0.0005| <0.0005
A Vi 2 JL (mg/L) | <0.0003| <0.0003| <0.0003| <0.0003 4 <0.0003| <0.0003| <0.0003
A pd v ES > b (mg/L) <0.0006| <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
AFHEF A (DMTP) (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
A F L X A4 A v v (ng/L) <0.0003|  <0.0003| <0.0003|  <0.0003 4| <0.0003| <0.0003| <0.0003
A I J A kv v Vv (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
A k Pj 7 v > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
P = JF & v b (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002
A va = = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
+ J b — I (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= = 4] <1 <1 <1 <1 4 <1 <1 <1




3) BrARKIEAR M SRR KRG kiR K
Bt AGE R ZEM] el RS R KK (ZD1)

R /] 4 5 6 7 8 9
54 0 0 0 0 0 0
- ik gl (CFU/ml) | Fe 1 0 0 0 0 0 0
1) 0 0 0 0 0 0
15
K AKX
) - - - - - -
| <0001 <0.001]  <0.001| <0.001| <0.001| <0.001
Mk O F o b & W mg/L)|&IE| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
SEFY| <0.001|  <0.001|  <0.001| <0.001| <0.001| <0.001
54 <0.03 <0.03 0. 03 <0.03 <0.03 <0.03
% Kk O 2 O b & W (mg/l)|xIK <0.03 <0.03 <0.03 <0.03 <0.03 <0. 03
5 R <0. 03 <0.03 <0. 03 <0.03 <0.03 <0.03
el <0.001| <0.001| <0.001| <0.001| <0.001 0. 001
v AR OE DS Y (ng/L)|fAK| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
Ut S| <0.001|  <0.001]  <0.001| <0.001| <0.001| <0.001
e 13.9 15.8 18. 4 16.6 15.3 17.5
wot ¥ 4 F v (g/l)|HIK 7.8 12.9 13.0 11.6 7.9 8.8
H St 11.8 14.8 15.6 13.8 11.7 14.0
i 0.8 0.8 0.9 0.8 0.8 0.9
H & LY (TOC)  (mg/L) | HfE& 0.7 0.8 0.8 0.8 0.6 0.8
H
¥ 0.8 0.8 0.8 0.8 0.7 0.8
o=t 7.60 7. 69 7.72 7.79 7.64 7.70
pH il =K 7.51 7.50 7.54 7.52 7. 46 7.48
1) 7.55 7.57 7.59 7.60 7.52 7.56
B U BER U | BE L | B | B2 | BRERL
B ) B U RERL | BERL | BERL | BELL| BEAL
e <0.5 €0.5 <0.5 €0.5 0.5 €0.5
&, EoO(E) | &I <0.5 0.5 <0.5 0.5 0.5 0.5
S| <0.5 0.5 <0.5 0.5 0.5 €0.5
o=t 0. 02 0. 02 0. 02 0.03 0. 02 0. 02
) () | &IK <0.01 <0. 01 <0.01 <0. 01 <0.01 <0. 01
1 <0.01 <0.01 0.01 0. 02 0.01 0.01
# I 15 0. 80 0.79 0.81 0. 80 0. 82 0. 80
?%J wEooBE % ¥ # (mg/l) | KIK 0. 62 0. 57 0.51 0. 32 0. 40 0. 32
: ) 0.74 0.72 0.71 0. 66 0. 69 0. 66
fi i 0. 86 0. 87 0.88 0. 87 0. 87 0.85
,Ei_ B o i) F (mg/L) | I 0.70 0. 64 0.59 0. 40 0.47 0. 40
i* S 0. 80 0.79 0.78 0.73 0.76 0.73
IS B Y % Kno, # & &) (mg/L) 1.3 0.5 1.1 1.2 1.4 1.3




10 11 12 1 2 3 [F1%k e wAK S
0 0 0 0 0 0
0 0 0 0 0 0 48 0 0 0
0 0 0 0 0 0

<0.001| <0.001| <0.001] <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 48| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001] <0.001| <0.001| <0.001

<0. 03 <0.03 <0. 03 <0. 03 <0. 03 <0. 03
<0.03 <0.03 <0.03 <0.03 <0.03 <0.03 48 <0.03 <0.03 <0.03
<0. 03 <0.03 <0. 03 <0. 03 <0. 03 <0. 03

<0.001| <0.001| <0.001] <0.001| <0.001| <0.001

<0.001| <0.001| <0.001| <0.001| <0.001 <0.001 48| 0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001 <0.001
15.3 12.5 17. 4 14.1 17.6 13.3
7.3 9.1 14.7 12.7 16.3 12.1 48 18. 4 7.3 13.6
11.3 10.8 16. 1 13. 4 16.9 12.5
1.0 0.8 0.9 0.8 0.8 0.8
0.7 0.6 0.8 0.6 0.7 0.7 48 1.0 0.6 0.8
0.8 0.7 0.8 0.7 0.8 0.8
7.59 7.62 7.58 7.58 7.59 7.59
7.47 7.51 7.49 7.50 7.53 7.54 48 7.79 7.46 7.55
7.52 7.55 7.54 7.53 7.55 7.56
B U | BE2 U | B U B L | BERL | BERL 48 HERL
BERU|IRELRL BERL BEALL|BEEAL|BAERL 48 B L
0.5 0.5 0.5 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5 48 0.5 0.5 0.5

<0.5 <0.5 0.5 <0.5 0.5 <0.5

0.02 0.02 0.01 <0.01 0.02 0.02

<0.01 <0.01 <0.01 <0.01 <0.01 <0.01 48 0.03 <0.01 <0.01
0.02 <0.01 <0.01 <0.01 <0.01 <0.01
0.83 0.81 0.81 0.83 0.83 0.81
0. 46 0. 65 0.61 0. 64 0.68 0. 65 48 0.83 0.32 0.70
0.71 0.77 0.76 0.77 0.79 0.75
0. 86 0. 86 0.88 0.91 0.89 0.87
0.54 0.73 0.68 0. 69 0.75 0.71 48 0.91 0.40 0.79

0.77 0. 82 0.81 0. 82 0. 86 0.81

0.9 0.7 1.2 0.8 1.1 1.1 48 1.4 0.5 1.1




Bt ACE AR M SRR K RifaKEEAK (2D 2)

HE / 4 5 6 7 8 9
i 18.8 24. 2 25.6 29.6 32.2 29.9
7K B (O |&KK 14.0 21.1 23.6 27.0 26. 4 23.8
Tty 16.0 22.8 24.9 28. 4 29. 4 26. 6
i 33.2 36. 4 36.6 38.3 33.6 36.6
7 iz 7 j B (mg/L) | i 24.0 32.7 32.8 33.6 26. 6 26. 8
St 30.8 35. 2 35.0 35. 4 31.2 33.0
| E (mg/L) 2.0 1.9 2.5 1.4 1. 1
il [i73 f& = # (mg/L) 0.88 0. 84 0.79 0.83 0.90 0.98
it i3 A i > (mg/L) 18.8 17.7 18.7 17.3 23.1 22.2
Bely 0 o » & m E (/) 30 31 29 26 29 29
~ 7 % ¥ U A B OE (ng/L) 9 8 9 8 9 9
IH B 16. 4 18.1 19.1 18.9 18.0 18.8
CE S U B . (mS/m) | Flk 12.7 16.1 16. 4 15.5 14.0 14.0
¥ 15. 1 17.2 17.7 17.0 16.0 16. 1
. s 7 i3 F# (mg/L) 10.9 9.5 9.2 8.8 9.1 7.7
M| 0.035)  0.038)  0.036]  0.034|  0.034]  0.034
%4 B Om ok B & 0.027)  0.032| 0.032] 0.031| 0.026| 0.028
SE¥I[ 0.032)  0.035]  0.034|  0.032|  0.030| 0.031
e H WA v S W E (mg/l) 0. 056 0. 059 0. 032 0. 034 0. 031 0. 055
WO 9RO (O ) (mg/L) <0.001  0.001|  0.001| 0.001| <0.001| <0.001
7Y s AR Y T U A (E/2o) 0 0




10 11 12 1 2 3 %4 =311 4159 R
26.5 19.0 12.3 11.3 9.6 14. 4
17.5 12.8 9.0 6.8 6.7 11.3 48 32.2 6.7 18.9
22.0 16.5 10. 8 8.6 8.6 12.3
34. 4 33.0 33.8 32.5 33.2 30. 6
22. 4 28. 4 33.2 31.0 30. 4 27. 4 48 38.3 22. 4 32.4
30. 4 31.3 33. 4 31.6 32.1 29. 6
1.5 1.7 1.9 1.5 1.7 1.9 12 2.5 1.4 1.7
0.88 0. 62 1.12 0. 57 1. 05 0.71 12 1.12 0. 57 0.85
18.6 16. 2 19.8 16.5 20. 7 16.8 12 23.1 16.2 18.9
27 27 31 30 30 27 12 31 26 29
8 7 9 8 8 8 12 9 7 8
18.2 15.6 18.7 15.9 18.9 15.6
13.0 13.4 17.3 15.3 17.2 15.0 48 19.1 12.7 16.3
15.7 14.5 18.1 15.6 18.1 15.2
9.1 10.6 12. 4 12.9 14. 4 12.7 12 14. 4 7.7 10.6
0.045|  0.031| 0.038/  0.028) 0.034| 0.028
0.029|  0.026| 0.025| 0.024| 0.024| 0.021 48/ 0.045|  0.021]  0.031
0.035|  0.028| 0.034| 0.026/ 0.030] 0.026
0.032|  0.021| 0.031| 0.027| 0.018  0.026 12| 0.059| 0.018]  0.035
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| 0.001| <0.001| <0.001
0 0 4 0 0 0




Pt AGE B SE R JEIRE K REG KR K (2D 3)
A

A 4 5 6 7 8 9
BRI AR OYZEDOIAEY (ng/L) <0.0003|  <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
KB Kk O F o b & W (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 <0.00005
t L v Kk O ZE O b A W (mg/l) <0. 001 <0. 001 <0.001 <0. 001 <0. 001 <0. 001
vt # kK O O bt & W (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
N 7o ove A b A W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i il 73 fe %= % (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
T A F RO ALY T v (mg/L) <0. 001 <0.001 <0. 001 <0.001 <0. 001 <0.001
Y R AE 2R & OV AN R RE =R (mg/L) 0.88 0.84 0.79 0.83 0.9 0.98
7 v #F M T Ot A W (mg/l) <0. 08 0.08 <0. 08 0.08 0.08 0. 09
v F K O ZE 0 LA W g/l 0.1 <0. 1 0.1 <0. 1 0.1 <0.1
| #H 1t R % (mg/L) <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — v F xF B v (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
ié?lf jl,z/—/{ful/uulu%ll/; f 9 (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
A4 = = A 2 (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002

&= N5 7 mav = F L v (mg/l) <0. 001 <0.001 <0. 001 <0.001 <0. 001 <0.001
U 7 B v = F L v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ N € > (mg/L) <0. 001 <0.001 <0. 001 <0.001 <0. 001 <0.001

e | M 3 g (mg/L) <0. 06 <0. 06 <0. 06 0. 07 0.07 0. 06
Va = = i3 /% (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = 7 L 2 (mg/L) 0. 002 0. 005 0. 004 0. 005 0. 005 0. 009

w5 ¥ Vi = =t 5 e (mg/L) <0.003 <0. 003 <0. 003 <0. 003 0.003 <0. 003

v r® s mor 2 & v (mg/l) 0.003 0. 006 0. 005 0. 004 0. 006 0.01
R # e (mg/L) <0. 001 0.002 0.002 0.002 0. 004 0. 004
wor U oo v A & v (mg/L) 0.008 0.019 0.015 0.014 0. 02 0. 033

HIk ] v =t = BE B (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 <0.003 <0. 003
7 v E Y 7 v ou A % v (ng/L) 0.003 0. 007 0. 005 0. 005 0. 007 0.011
7 =] = N IV 2 (mg/L) <0.001 0.001 0.001 <0. 001 0. 002 0.003
A A A T A F b F (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
o & v o b A W (ng/L) 0.1 0.1 0.1 0.1 0.1 0.1
TNI=0U Lk OZoOEY (ng/l) 0. 02 0.03 0. 04 0. 04 0. 04 0. 04
g & O F o A& W (mg/L) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
FrF YU T AKRREONAE YW (ng/L) 14.6 14.9 15. 6 14. 2 17 18.2
AN T AT xT T NEEE) (ng/L) 39 39 38 34 38 38
7K i 7% o ¥ (mg/L) 92 86 105 88 106 112
k2 4 A4 v R/ om o3& M Al (mg/L) <0. 02 <0.02 0. 02 <0.02 0. 02 <0.02
v - + s 2 > (ng/L) <1 <1 <1 <1 <1 <1
2- A F ) A4 YV R )L R F — b (ng/L) <1 <1 <1 <1 <1 <1
FE A4 A v F om i M Al (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 - J — L o (mg/L) <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
T rF R OZEONAEY (ng/l) <0. 002 <0. 002
77 o kY ZE oA W (mg/l) <0. 0002 <0. 0002
= v FZ N kN E OIS Y (mg/L) <0. 002 <0. 002
L,2- ¥ 7 v m =x= % Vv (mg/L) <0. 0004 <0. 0004
~ IV - > (mg/L) <0. 04 <0. 04

Bl 2 VY @-= F ~F ) (mg/L) <0. 01 0. 01

H i # i (mg/L) <0. 06 <0. 06

HI 7 oo 7 £ F = F U 1 (mg/l) <0. 001 <0. 001

g B ok 7 o 7 — 5 (mg/L) 0. 002 <0.002

i [ # # <1 <1

8 |ifF Ffe SR it (mg/L) 1.8 1.7 2.2 1.2 1.3 1.2

Bil,,1- v UV 7 v v = % v (mg/l) <0.03 <0.03
A F ) -t-F F )L —F )L (MBE) (mg/L) <0. 002 <0.002
B = G Jii5 (TON) 1 1 1 1 1 1
7 VA 7 "% -1.4 -1.1 -1.3 -1.3 -1.2 -1.0
5 & %5 = Gl (CFU/ml) 0 0
L,1 — Y 7 o r = F L v (mg/l) <0.01 <0.01




10 11 12 1 2 3 [E14 e 53l Q&)
<0.0003|  <0.0003| <0.0003| <0.0003| <0.0003|  <0.0003 12| <0.0003| <0.0003| <0.0003
<0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 12| <0.00005| <0.00005| <0.00005
<0. 001 <0. 001 <0. 001 <0.001 <0. 001 <0. 001 12 <0.001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0.001 <€0. 001 <0. 001 <0.001 <0. 001 <0. 001 12 <0.001 <0. 001 <0. 001
0. 88 0. 62 1.12 0. 57 1. 05 0.71 12 1.12 0.57 0. 85
<0. 08 0.09 0. 09 0.09 <0. 08 <0. 08 12 0.09 <0.08 <0. 08
0.1 <0. 1 0.1 <0. 1 0.1 <0. 1 12 <0. 1 0.1 <0.1
<0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002 12| <0.0002| <0.0002| <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 0. 004 12 0. 004 <0. 002 <0. 002
<0.001 <€0. 001 <0. 001 <0.001 <0. 001 <0.001 12 <0.001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0.001 <€0. 001 <0. 001 <0.001 <0. 001 <0. 001 12 <0.001 <0. 001 <0.001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 12 0. 07 <0. 06 <0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
0. 005 0.003 0.003 0. 004 0. 002 0. 002 12 0. 009 0. 002 0. 004
<0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 12 0. 003 <0. 003 <0. 003
0. 004 0.003 0.003 0.003 0. 002 0. 002 12 0.010 0. 002 0. 004
0. 002 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 0. 004 <0. 001 0.001
0.014 0. 009 0.010 0.011 0. 006 0. 006 12 0.033 0. 006 0.014
<0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 12 <0. 003 <0. 003 <0. 003
0. 005 0.003 0.003 0. 004 0. 002 0. 002 12 0.011 0.002 0. 005
<0. 001 <0. 001 0.001 <0. 001 <0. 001 <0. 001 12 0. 003 <0. 001 <0. 001
<0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 12 <0. 008 <0. 008 <0. 008
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0. 02 0.02 0. 02 0.02 0. 02 0.01 12 0. 04 0.01 0.03
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
13.7 11.8 15.2 12.2 16. 1 12. 4 12 18.2 11.8 14.7
35 34 40 38 38 35 12 40 34 37
97 83 101 89 95 88 12 112 83 95
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005| <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4] <0.0002| <0.0002|  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4| <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4 <0. 04 0. 04 <0. 04
<0. 01 <0. 01 4 <0. 01 <0. 01 <0. 01
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
<0. 002 <0. 002 4 0.002 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
1.3 1.5 1.7 1.3 1.5 1.7 12 2.2 1.2 1.5
<0.03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.3 -1.5 -1.4 -1.4 -1.5 -1.5 12 -1.0 -1.5 -1.3
0 0 4 0 0 0
<0.01 <0.01 4 <0.01 <0. 01 <0.01




Brpti ki A SE M SRR K S

Yo tia/Kie K (Z0D4) i

5 7 10 2 [a]%% B AR ¥

HAH

1,3—Y7un7ua~X (D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X ZK) (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0.001 <0.001 <0.001
24 — D (24 — P A ) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T v o = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 - = - — K (mg/L) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
7 ]\ v D% v (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4] <0.0001| <0.0001| <0.0001
7 = =4 iR Z (mg/L) | <0.00005 <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
7 2 ~ = A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = V4 o — JL (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y X ¥ F  F > (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 Y 7 = ¥ & A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A4y 7uaHBH 7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
Ay 7uaF A7 (IPT) (mg/L) <0.003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A 7N KRAXA(IBP) (mg/l) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 X 7 7 Z ¥ v (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v X 7 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
— 2 7 v H ) 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 4T = AR (=Y T =R A EDDP) (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
B 7 = v 7 v v 7 A (ng/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008|  <0.0008
TR TY = (mraxy—u) (ng/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
T RANLNT 7o (R ) (ng/L) <0.0001| <0.0001| <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
F % % 2 7 g X K v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X 8 (F M H) (mg/L)| <0.0004] <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Uy % 2 F v v v (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
71 z B 7N Z (mg/L) | <0.000006| <0.000006| <0.000006| <0. 000006 4| <0.000006| <0.000006| <0. 000006
B 7 = v A k7 — b (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
Vi % v 4 7 (mg/L)

SNy (N A C)  (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
71 Jb R 7 = > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /27 732 (A CN ) (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
X Y - b > (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0.003 <0. 003 <0. 003
7 N JL =4 > (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 ) R A — ~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
J v Ak ¥ x — b (mg/L)

7 o owa X 7 v v 7 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
su)r=ra 7=z (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 oowm b v U A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
souXua=,)L(TPN) (mglL) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 -+ D% > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v ey (DCMU) (mglL) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
7 ur~X=,L (DBN) (mglL) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
ru )R A (DDVP) (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
D4 7 7 4  (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
D ZNVIRR Y (mF I F A ARY)  (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
P4 + 7 J > (mg/L)

CFA I N AN A=FFREIK (ng/l)

D4 va 7 . JL (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o nm R v 7 F b (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y A X A b U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002|  <0.0002
R 8 T — ~ (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v A I ) v (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
Y X ¥ L — k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
X A 7 a4 > (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
vd A VN =i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
y\/“f‘)]\\ A KN (77“/§A) (mg/L)

KOAFNA I TFHT H— b




A

) 5 7 10 2 [m1%k o4 A R3]

HH

va T v = U (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
a 74 5 2 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
F 4+ ¥ B v 7 (mg/L) <0. 0008 <0. 0008 <0. 0008 <0. 0008 4 <0. 0008 <0. 0008 <0. 0008
F A+ 7 7 Fx — b XA F )L (ng/L) <0. 003 <0.003 <0. 003 <0.003 4 <0.003 <0. 003 <0. 003
F F X v h v T (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 7 U v b U F v (mg/l)

TINTHN7 (MBPMC) (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
S ) 7 = b (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006|  <0.00006|  <0.00006
FV 27w Ay (DEP) (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
U Y Z Y — L (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
U 7 v Z U v (ng/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
+ 7 & N N R (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
N > = — K (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005|  <0.00005
= ~2 o N Z (mg/L) | <0.00005| <0.00005  <0.00005| <0.00005 4| <0.00005|  <0.00005|  <0.00005
v 7 v = ) (mg/l)

5 Y X ¥ 7 = » (mg/L)| <0.00004] <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004|  <0.00004
7 x—h (YL —bF) (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
YU X% 7 = v F F  (mg/L)| <0.00005 <0.00005 <0.00005| <0.00005 4| <0.00005|  <0.00005|  <0.00005
v U 7 F h v 7 (mg/l) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
= o X = > (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 4 7 m = )b (mg/L)| <0.000005| <0.000005 <0.000005| <0.000005 4| <0.000005| <0.000005| <0.000005
ZJrx=raF A (MEP) (ng/L) <0. 0001 <0. 0001 <0.0001 <0.0001 4 <0. 0001 <0. 0001 <0. 0001
7= )7 7 (BPMC) (ng/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 E= D) A ) v (mg/L)

7z F A2 (MPP) (mg/L)| <0.00006] <0.00006 <0.00006| <0.00006 4| <0.00006|  <0.00006|  <0.00006
7 2 hx —hF(PAP) (mg/L)| <0.00007] <0.00007| <0.00007| <0.00007 4| <0.00007|  <0.00007|  <0.00007
7 = v b 7 ¥ I F (ng/l) <0. 0001 <0. 0001 <0. 0001 <0. 0001 4 <0. 0001 <0. 0001 <0. 0001
7 VA 7 A K (mg/L) <0.001 <0. 001 <0.001 <0. 001 4 <0.001 <0. 001 <0. 001
7 % 7 v  — ) (mng/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 v N 7R Z  (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 7 v 7 = ¥ v (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 v 7 Y F A (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0.0003 <0. 0003 <0. 0003
7 v F 5 7 v — b (ng/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 &m v 3 F v (mg/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
7 a  F A F A (mg/L)

7 v v 2 F Y — b (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 & AR F (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 m X Y — b (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 o = 7  F K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J 2 JL (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
~ v P 7 =4 > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N Yy Y 7 om v (ng/l) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
~N v Y 7 oz F w7 (mg/L)| <0.00005 <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ b X > v (mg/L) <0. 002 <0. 002 <0.002 <0. 002 4 <0. 002 <0. 002 <0. 002
~N v T 4 A HF Y v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0.003 <0.003
~N v 7 Z k) 7 (mg/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
RN Z) o (RAaY ) (ng/L) <0. 0001 <0. 0001 <0. 0001 <0. 0001 4 <0. 0001 <0. 0001 <0. 0001
N 7 Lok — bk (ng/L) <0. 0007 <0. 0007 <0. 0007 <0. 0007 4 <0. 0007 <0. 0007 <0. 0007
A A F 7 ¥ — b (mg/L)| <0.00003] <0.00003| <0.00003| <0.00003 4| <0.00003|  <0.00003|  <0.00003
~ 7 F F (<=7 ) g/l <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
A7y 7 (MCPP) (ng/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A > 3 JL (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A v 7 % v )b (mg/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
AFZFF2 (DMTP) (mg/L)| <0.00004] <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004|  <0.00004
A F L X 4 L v v (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A K~ I J 2 kb B Vv (ng/l) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
A k D) -7 D4 > (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A 7 = F ¥ v + (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
A -7 = = JL (mg/L) <0. 001 <0.001 <0. 001 <0.001 4 <0. 001 <0. 001 <0. 001
s Jj ES — ~ (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= = ) <1 <1 <1 <1 4 <1 <1 <1




4) BerhAEAE3E $E4 ) KRG KRR
Bt AE AR R SR K S RifaAKER K (ZD1)

K A 4 5 6 7 8 9
4] 0 0 0
- i gl (CFU/mD) | B 0 0 0 0 0 0
DA 0 0 0
b3
N AR
¥ - - - - - -
S a 0. 002 0.003 0. 004 0.003 0. 002 0. 004
i Kk O o b A& W (mg/L) &Ml <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
S| <0.001  <0.001|  <0.001 0.001| <0.001 0.001
e <0.03|  <0.03| <0.03]  <0.03 <0.03|  <0.03
B Kk O 0o b & % (mg/L)| &K <0.03 <0. 03 <0. 03 <0. 03 <0.03 <0. 03
3t Sl <0.03| <0.03|  <0.03]  <0.03 <0.03|  <0.03
i 0. 001 0. 001 0. 002 0. 002 0.001| <0.001
~ RO E DAY (ng/L) | &&| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
% Y| <0.0010  <€0.001| <0.001 <0.001| <0.001| <0.001
i 14. 4 16.5 18.5 15.2 15.4 17.2
#7oik ¥ 4 A v (g/l)|HKIK 7.8 12.7 13.5 11.0 6.9 7.9
£ ) 12. 4 14.8 16.3 13.1 10.5 13.2
i 0.8 0.9 0.9 0.8 0.9 0.8
H B LY (ToC)  (mg/L) | fefk 0.5 0.6 0.6 0.7 0.6 0.7
H T 0.7 0.8 0.8 0.8 0.7 0.8
5] 7.59 7.61 7.62 7.63 7.62 7.59
pH & A% 7.47 7.50 7.54 7.51 7.53 7.51
N3] 7.55 7.58 7.58 7.58 7.56 7.55
HEe L BERUI RERLU | RELL I BRERL | BEALL
B = B U BER U BRELALU| | BEARLIBEERL | BEERL
a ] 0.5 <0.5 <0.5 <0.5 0.5 <0.5
=) () I 0.5 0.5 <0.5 0.5 <0.5 0.5
Ty 0.5 <0.5 <0.5 <0.5 0.5 <0.5
4] 0.03 0. 02 0.03 0.03 0.03 0.01
) () I <0. 01 <0.01 <0.01 <0.01 <0.01 <0.01
N3] 0.01 <0. 01 0.01 0. 02 0.02 <0. 01
" Sa] 0.79 0.77 0. 77 0. 67 0.73 0. 80
Bl OEE R OB O F (ng/l) | HIE 0.56 0.50 0.29 0.25 0.18 0.38
A bises) 0. 68 0.63 0.58 0.53 0.53 0.58
I%; Sa] 0. 82 0.83 0. 87 0.73 0.78 0. 84
?,_; V53 B i F (mg/L) | HIK 0. 62 0.59 0. 36 0.31 0.30 0. 50
% bises) 0. 74 0.71 0. 66 0.59 0. 60 0. 64
I
N T (KMnO, ¥4 # & ) (mg/L) 0.3 0.5 1.1 0.9 1.1 1.0




10 11 12 1 2 3 [EEq i IR B
0
0 0 0 0 0 0 96 0 0 0
0
96 -
0.003|  0.002| 0.002| 0.001] 0.004|  0.002
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 96|  0.004| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.03]  <0.03|  <0.03| <0.03] <0.03]  <0.03
<0.03|  <0.03| <0.03| <0.03] <0.03]  <0.03 96|  <0.03|  <0.03|  <0.03
<0.03]  <0.03|  <0.03| <0.03] <0.03]  <0.03
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001 <0.001| <0.001| <0.001| <0.001 96|  0.002| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
14. 4 13.3 16. 6 15.5 17.8 15.2
7.2 7.7 15.2 12.7 16. 4 11.5 96 18.5 6.9 13.5
12.1 10.5 16.1 13.7 16. 7 13.1
1.0 0.7 0.8 0.7 0.9 0.8
0.6 0.5 0.6 0.5 0.7 0.6 96 1.0 0.5 0.7
0.8 0.6 0.7 0.6 0.8 0.7
7.63 7. 60 7.57 7.56 7.58 7.59
7.52 7.53 7.50 7.52 7.48 7.49 96 7.63 7.47 7.56
7.56 7.56 7.54 7.55 7.54 7.55
WER U\ RERL  RERL BERL|RERLIBERL 96 L
B U BEAR U BER2U | BERL I BEHARAL| BEEAL 96 7L
0.5 0.5 0.5 0.5 <0.5 0.5
0.5 <0.5 0.5 <0.5 0.5 <0.5 96 <0.5 0.5 <0.5
0.5 0.5 0.5 0.5 <0.5 0.5
0. 04 0.01 0.03|  <0.01 0. 02 0. 02
<0.01|  <€0.01| <0.01/  <0.01| <0.01]  <0.01 96 0.04| <0.01|  <0.01
0.01|  <0.01 0.01|  <0.01 0.01|  <0.01
0.74 0.76 0.81 0. 81 0.79 0.78
0.37 0.48 0. 61 0. 62 0.63 0. 58 96 0. 81 0.18 0. 64
0.63 0. 68 0. 70 0.71 0.71 0.71
0.79 0. 80 0. 86 0. 86 0. 85 0.83
0. 46 0.52 0. 68 0.65 0. 68 0. 65 96 0.87 0.30 0.70
0.70 0.72 0.77 0.75 0.77 0.77
0.6 0.7 0.9 0.5 0.8 0.8 96 1.1 0.3 1.2




Bt AE AR A ) TR Rita KK (2D 2)

HE / 4 5 6 7 8 9
i 18.0 25. 1 26. 4 30.6 32.3 30.0
7K B (O |&KK 12.6 20. 2 22.7 24.8 27.5 24.7
Tty 15.5 22.2 24.5 27.7 29. 6 27.2
i 35.3 38. 4 37.8 36. 7 35.2 37.2
7 iz 7 j B (mg/L) | i 23.9 32.6 34.0 32.2 23.2 25. 8
St 31.9 35.0 35. 6 34.5 30. 4 31.8
| E (mg/L) 2.0 1.9 2 1. 1 1.4
il [i73 f& = # (mg/L) 0.98 0.89 0. 82 0.83 0.85 1.01
it i3 A i > (mg/L) 20. 1 17.9 19.0 18.1 23.7 22. 4
Bely 0 o » & m E (/) 31 30 29 26 30 29
~ 7 %X ¥ v A ® JE (ng/L) 9 9 9 7 9 9
IH B 17.1 18.5 19.6 18.0 18. 4 19.3
CE S U B . (mS/m) | Flk 13.4 16. 6 16. 7 15.1 14. 1 13.6
¥ 15.8 17.6 18.2 16.6 15.5 16.7
. s 7 i3 F# (mg/L) 9.7 9.6 8.7 8.4 8.4 7.4
M| 0,038 0.039]  0.037|  0.030]  0.035|  0.034
%4 B Om ok B BIE| 0.023)  0.024]  0.022] 0.025| 0.017|  0.019
SE¥I[ 0,030 0.032]  0.030,  0.028)  0.027|  0.029
e H WA v S W E (mg/l) 0. 038 0. 057 0. 039 0. 035 0. 042 0. 042
WOt Mmoo (B OE ) (mg/L) <0.001  0.001| <0.001| <0.001| <0.001| <0.001
7Y s AR Y T U A (E/2o) 0 0




10 11 12 1 2 3 %4 =311 4159 R
24.6 19.2 14.7 11.7 10.3 14.0
19.5 13.2 9.0 6.2 7.1 10.7 96 32.3 6.2 19.0
22.8 17. 4 11.4 9.2 8.5 12.3
35.7 34.0 34. 4 32.8 34.0 32.1
23.3 25.1 30.3 30. 6 31.2 25. 8 96 38. 4 23.2 32.5
32.8 30. 6 33.2 31.5 32.7 29.7
1.5 1.5 1.9 1.5 1.7 1.9 12 2.5 1.3 1.7
0.92 0. 67 1.11 0.79 1. 06 0.69 12 1.11 0. 67 0. 89
19.6 20. 7 21.3 18.3 20. 8 17.0 12 23.7 17.0 19.9
27 30 32 31 30 28 12 32 26 29
8 8 9 9 8 8 12 9 7 9
18.2 16.3 18.9 16.8 18.9 17.1
14. 3 12.7 17.1 15.4 17.1 14.9 96 19.6 12.7 16.6
16.6 14.5 18.0 16. 1 18.0 15.6
8.6 9.9 11.6 12.9 14.3 11.9 12 14.3 7.4 10. 1
0.042|  0.031| 0.037| 0.043] 0.033]  0.029
0.025|  0.020| 0.009| 0.018  0.025  0.019 96/  0.043|  0.009  0.028
0.031| 0.025| 0.026/ 0.027| 0.028/  0.025
0.026|  0.021| 0.037| 0.017| 0.018  0.028 12| 0.057| 0.017|  0.033
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| 0.001| <0.001| <0.001
0 0 4 0 0 0




Bt ACE AR S EA K Rita ARKEE K (2D 3)
A

S 4 5 6 7 8 9
BRI TARERZEDONEYW (g/L) <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
K OB OKE Y = o b A& W (mg/L)| <0.00005] <0.00005| <0.00005/ <0.00005| <0.00005 <0.00005
v v E O ZF 0 /AW (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
vt # Kk O o b & B (mg/l) <0. 001 <0. 001 <0.001 <0. 001 <0.001 <0. 001
N oM oy v oA Ak A& W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i i 73 15 = # (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
v T vk A Ay RO ALY T v (mg/L) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0.001
il ER e HE K OV AH R RE E #E (mg/L) 0.98 0. 89 0.82 0.83 0. 85 1.01
7 v #F kK X ZE 0t A W (mg/l) <0. 08 <0. 08 0.08 <0. 08 0.12 0.10
w v F KR YT 0 AW (mg/l) €0.1 <0. 1 0.1 <0. 1 0.1 0.1
| i 1k 7 F# (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — v & X H v (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
CEIUMEL YRR E S BT e/ <0.001]  <0.004]  <0.004)  <0.004]  <0.004|  <0.004
DA = = % v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002

#* F N 5 7 w oo = F L > (mg/l) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0.001
kYU 7 v o x F L ¥ (mg/l) <0. 001 <0. 001 <0.001 <0. 001 <0.001 <0. 001
~ N + > (mg/L) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0. 001

UE [t ES %z (mg/L) 0. 06 0. 06 <0. 06 0. 06 0. 06 0. 06
Vi = = i3 % (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = N JL 2 (mg/L) 0. 001 0. 004 0. 006 0. 007 0.010 0. 007

1 o Vi = = i3 % (mg/L) <0.003 <0.003 <0.003 <0.003 <0.003 <0. 003
Y 7 v ® 7 v B A X v (ng/l) 0. 003 0. 006 0. 006 0. 006 0.011 0. 009
5 # % (mg/L) 0. 002 0. 002 0. 001 0. 002 0. 004 0. 003
w N U N v A & v (mg/L) 0. 006 0.017 0.02 0. 021 0. 037 0. 027

BT D] Vi = o & (mg/L) <0.003 <0.003 <0.003 <0.003 <0.003 <0. 003
7 v £ ¥ /7 v oa A % v (ng/l) 0. 002 0. 005 0. 007 0. 007 0.013 0. 009
7 = B A JL 2 (mg/L) <0.001 0. 002 0. 001 0. 001 0. 003 0. 002
A v A 7 A F b K (mg/L) <0. 008 <0. 008 <0.008 <0. 008 <0. 008 <0. 008
ok N F o kA& W (mg/L) <0.1 <0.1 <0.1 €0.1 <0.1 <0.1
TN =gl EOPZ0EY (mg/l) 0.02 0.03 0. 04 0. 04 0.05 0. 04
g Ok O F o b A& W (mg/L) <0.1 <0.1 <0.1 €0.1 <0.1 <0.1
F rFU T AR DYE DA W (ng/L) 16.3 15.0 15.9 14. 1 17.5 17.7
BT TN = SRy NS () (ng/L) 40 39 38 33 39 38
7R & 7% w ¥ (mg/L) 99 94 106 85 92 93
k2 4 4 v R om & M Al (mg/L) <0. 02 <0. 02 0. 02 <0. 02 0. 02 <0.02
v - 7 2 g v (ng/L) <1 <1 <1 <1 <1 <1
2- A F A4 YV KRR F — b (ng/L) <1 <1 <1 <1 <1 <1
F A4 A v R om w M A (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 ES J — L ¥ (mg/L) <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
T FEUCEARXZEZONAEYW (mg/l) <0. 002 <0. 002
75 kN E O E W (ng/l) <0. 0002 <0. 0002
= v Fr Lk ®ZE 0 E D g/l <0. 002 <0. 002
L2- ¥ 7 =wv mw =x= # ¥ (ng/l) <0. 0004 <0. 0004
b L = > (mg/L) <0. 04 <0. 04

Bl 2y - F L ~F ) (mg/L) <0. 01 <0. 01

i e # % (mg/L) <0. 06 <0. 06

Eﬁ P 7 mua 7t k= F U A& (gl <0. 001 <0. 001

E; ¥ ok s w7 —  J (mg/l) <0. 002 <0. 002

e | B PS b <1 <1

1\ |iE Hfe i 1% (mg/L) 1.8 1.7 2.2 1.1 1.3 1.2

Bl,,1- U 7 v o8 = % > (ng/lL) <0. 03 <0. 03
A F ) —t-7 F L x— 5 b (MBE) (mg/L) <0. 002 <0. 002
R = G R (TON 1 1 1 1 1 1
7 > 7Y - -1.3 —il, &) —il, &} —il, &) -1.1 -1.2
e & 5 = i (CFU/m1) 0 0
L1 — v 7 um a = F L ¥ (mg/L) <0. 01 <0. 01




10 11 12 1 2 3 [E1s s 53l )
<0.0003|  <0.0003] <0.0003| <0.0003| <0.0003| <0.0003 12| <0.0003| <0.0003| <0.0003
<0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 12| <0.00005| <0.00005| <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0.92 0. 67 1.11 0.79 1.06 0. 69 12 1. 11 0.67 0. 89
0.08 <0. 08 0. 09 <0. 08 <0. 08 <0. 08 12 0.12 <0.08 <0. 08
0.1 <0. 1 0.1 <0.1 0.1 <0.1 12 <0.1 0.1 0.1
<0.0002|  <0.0002| <0.0002| <0.0002| <0.0002|  <0.0002 12| <0.0002| <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 12 0. 06 <0. 06 <0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
0. 005 0. 005 0. 004 0. 002 0. 002 0. 003 12 0.010 0. 001 0. 005
<0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 12 <0. 003 <0. 003 <0. 003
0. 004 0. 004 0. 006 0. 003 0. 002 0. 003 12 0.011 0. 002 0. 005
0. 002 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 0. 004 <0. 001 0. 001
0.015 0.014 0.018 0. 008 0. 006 0. 009 12 0. 037 0. 006 0.017
<0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 12 <0. 003 <0. 003 <0. 003
0. 006 0. 005 0. 006 0. 003 0. 002 0. 003 12 0.013 0. 002 0. 006
<0. 001 <0. 001 0. 002 <0. 001 <0. 001 <0. 001 12 0. 003 <0. 001 <0. 001
<0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 12 <0. 008 <0. 008 <0. 008
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0.03 0.02 0.02 0.02 0.02 0.02 12 0.05 0.02 0.03
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
14. 4 12.6 16. 2 14. 4 16.0 12.3 12 17.7 12.3 15.2
35 38 41 40 38 36 12 41 33 38
9% 94 109 98 101 90 12 109 85 9%
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005| <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4] <0.0002| <0.0002|  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4] <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0. 01 <0. 01 4 <0. 01 <0. 01 <0. 01
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
1.3 1.3 1.7 1.3 1.5 1.7 12 2.2 1.1 1.5
<0.03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.3 -1.3 -1.4 -1.4 -1.5 -1.6 12 -1.1 -1.6 -1.3
0 0 4 0 0 0
<0.01 <0.01 4 <0. 01 <0.01 <0.01




BrppACGE A FEA) K e KERK (2D 4) I

A A 5 7 10 ) EE | R | RIE | T
HH

13—y 7ue7a~X(D—D) (mg/L) <0.0005|  <0.0005|  <0.0005|  <0.0005 4| <0.0005| <0.0005|  <0.0005
22 — DPA (X 748 v ) (ng/l) <0. 001 <€0. 001 <0.001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D ( 24 — P A ) (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003| <0.0003|  <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003|  <0.0003|  <0.0003
7 v EX a 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T +* -7 - — k (mg/L) <0.0008|  <0.0008|  <0.0008|  <0.0008 4| <0.0008|  <0.0008|  <0.0008
7 k 7 > v (mg/L) <0.0001|  <0.0001|  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
7 = o R A (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
7 N k 7 X (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <€0.0003| <0.0003| <0.0003
T 7 7 o — JL (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y ¥ Y% F A v (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 v 7 = ¥ A A (mg/L)| <0.00003] <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A4 T a7 (MIPC) (mg/l) <0.0001|  <0.0001|  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
A4 7 aF 4+ Z7 2 (1PT) Mgl <0. 003 <0.003 <0. 003 <0.003 4 <0. 003 <0.003 <0.003
A4 7 X kK A (I BP) (gL €0.0009|  <0.0009|  <0.0009|  <0.0009 4 <0.0009| <0.0009| <0.0009
A 2 / 7 Vi v > (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v K ) 7 7 > (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
— X 7 wvu H A 7 (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003| <0.0003|  <0.0003
TF 4T xR A (VTR A, EDDP) (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
™ N 7 = Vv 7 v v 7 A (ng/l) <0.0008|  <0.0008|  <0.0008|  <0.0008 4| <0.0008| <0.0008|  <0.0008
YT = (= rm AV — ) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
TURANLNT 7 (R ) (ng/L) <0.0001|  <0.0001|  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
F ¥ ¥ ¥ 7 v A F v (ng/L) <0.0002|  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002| <0.0002
F X v 8 (A ) (ng/L) <0.0004|  <0.0004| <0.0004|  <0.0004 4| <0.0004| <0.0004|  <0.0004
F U ¥ 2 F m v (ng/L) <0.001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
il z Va 7R 2 (mg/L) | <0.000006| <0.000006| <0.000006| <0.000006 4| <0.000006| <0.000006| <0.000006
B 7 = v A b 1 — L (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
7 JL A > 7 (mg/L)

B o8 U L (N A C ) (mg/L) <0.0005|  <0.0005|  <0.0005|  <0.0005 4| <0.0005| <0.0005| <0.0005
B 7 om0 2 K (mg/L) <0.0004|  <0.0004| <0.0004|  <0.0004 4| <0.0004| <0.0004|  <0.0004
7 % N 7 7 > (mg/L) | <0.00005| <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /7 7 7 2 v (A C N ) (mg/L)| <0.00005 <0.00005/ <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ ¥ 7 v > (mg/L) <0.003 <0. 003 <0.003 <0. 003 4 <0. 003 <0.003 <0. 003
4 3 % = v (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003|  <0.0003|  <0.0003
7 ) N H — ~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7 v K ¥ Fx  — b (mg/L)

4 oz A 7 nm > " (mg/L) <0.0002|  <0.0002|  <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
o=t 7= (CNP) (mgL) <0.0001|  <0.0001|  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
7 =4 LV =5 D) AN A (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
s uvu o=, (TP N) (mg/lL) <0.0005|  <0.0005|  <0.0005|  <0.0005 4| <0.0005| <0.0005|  <0.0005
v 7 + D4 > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7 A A (CY A P ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y v m v (D C M U ) (mng/L) <0.0002|  <0.0002|  <0.0002|  <0.0002 4| <0.0002|  <0.0002|  <0.0002
v /7 X =, (D BN ) (ng/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003|  <0.0003|  <0.0003
Y Zua ) AR A (DDV P) (mg/L)| <0.00008 <0.00008 <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
P4 7 % > ; (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
CANIKRR Y (ZF IV FF ARL) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
v va 7 / (mg/L)

CF A NN A — K (mg/L)

(mg/L) <0.00009| <0.00009| <0.00009| <0.00009 <0.00009| <0.00009| <0.00009

v A b =
p4

N B AR (mg/L) <0.00006| <0.00006| <0.00006| <0.00006 <0.00006| <0.00006| <0.00006

(mg/L) <0.00003| <0.00003| <0.00003| <0.00003 <0.00003| <0.00003| <0.00003

(mg/L) <0. 0002 <0.0002 <0. 0002 <0.0002 <0.0002 <0.0002 <0.0002

(mg/L) <0. 0003 <0.0003 <0. 0003 <0.0003 <0.0003 <0.0003 <0.0003

(mg/L) <0.00003| <0.00003| <0.00003| <0.00003 <0.00003| <0.00003| <0.00003

(mg/L) <0.00003| <0.00003| <0.00003| <0.00003 <0.00003| <0.00003| <0.00003

[
\’\’T\’T\’VFF%’?}#\’\

4
4
4
4
(mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
4
4
4
4

(mg/L) <0. 008 <0.008 <0. 008 <0.008 <0.008 <0.008 <0.008

vy by AF L (=N

A (mg/L)
BOAF LAY FFHL T 5— L &L




A

5 7 10 2 13K 54 $5Z159 ¥

HA

F 7 N = JL (mg/L) <0.001 <0. 001 <0.001 <0. 001 4 <€0. 001 <0.001 <0.001
F % = 2 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
F X ¥ h v 7 (mg/L) <0. 0008 <0. 0008 <0. 0008 <0. 0008 4 <0. 0008 <0. 0008 <0. 0008
F A4 7 7 F— b A F ) (ng/L) <0.003 <0. 003 <0.003 <0. 003 4 <0. 003 <0.003 <0. 003
F F N G v T (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 7 U b U F v (mg/L)

TNT N7 (MBPMC) (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
l\ ) 7 o v L (mg/L) <0.00006|  <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
U Zma Ak (DEP) (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
kU ¥ s 7 v — 3 (mg/L) <0. 001 <0. 001 <0. 001 <0.001 4 <0. 001 <0. 001 <0.001
Uz v Z U v (mg/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
+ v = A 3 K (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
2 > = — I (mg/L) <0.00005|  <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= ~ = R 2 (mg/L) <0.00005|  <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ 7 s v = J (mg/L)

¥ g Y % v 7 = v (mg/L) <0.00004|  <0.00004| <0.00004| <0.00004 4| <€0.00004| <0.00004| <0.00004
7V x—hF (YL —F) (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
vy X 7 = v F A v (mg/L) <0.00005  <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
v U 7 F 4 o 7 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
= =4 ¥ = > (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 4 7 & = JL (mg/L) | <0.000005| <0.000005| <0.000005| <0.000005 4| <0.000005| <0.000005| <0.000005
Jxz=braF A (MEP) (mg/L) <0. 0001 <0. 0001 <0. 0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
Zx) 7 V7 (BPMC) (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 S ) N a v (mg/L)

72 F A (MPP) (mg/L) <0.00006|  <0.00006| <0.00006| <0.00006 4] <0.00006| <0.00006| <0.00006
7z bhrx—hK(PAP) (ng/L) <0.00007|  <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007|  <0.00007
7 = v b 7 ¥ I F (mg/l) <0. 0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
= VA 7 A K (mg/L) <0. 001 <0.001 <0. 001 <0.001 4 <0. 001 <0.001 <0. 001
7 X /AR — L (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 vl N R A (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 7 v 7 = ¥ v (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 ) 7 Y A (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 v F 7 7 v — ) (ng/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A= v 2 F v (mg/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
7 v F 4 K A (mg/L)

7 v ¥ 2 F vV — J (ng/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 B =S A 2 K (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 o X F J — L (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 i T 7 Ea K (mg/L) <0.001 <0.001 <0. 001 <0.001 4 <0.001 <0. 001 <0.001
~ J 3 JL (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
~ v D 7 =4 v (mg/L) <0.001 <0.001 <0. 001 <0.001 4 <0.001 <0. 001 <0.001
N v v v 7 oua v (mg/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
X v 7 2 F oy 7 (mg/L) <0.00005|  <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ b b ' v (mg/L) <0.002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N v T 4 A KE Y v (mg/L) <0. 003 <0.003 <0. 003 <0.003 4 <0.003 <0.003 <0.003
X 7 T H v 7 (mg/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
R F) o (R2aY ) (ng/L) <0.0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
~N v 7 L ok — Kk (mg/L) <0. 0007 <0. 0007 <0. 0007 <0. 0007 4 <0. 0007 <0. 0007 <0. 0007
x A F 7 ¥ — T (mg/L) <0.00003|  <0.00003|  <0.00003|  <0.00003 4| <0.00003| <0.00003|  <0.00003
~ T F A (~ T ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0.007
Aa7uay 7 (MCPP) (mg/l) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A v 2 JL (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A vl 7 ¥ > L (mg/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
AFHEF A (DMTP) (mg/L) <0.00004|  <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
XA F v ¥ 4 A5 v v (ng/l) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A M I 7 A b 1 B v (ng/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
A k U 7 v > (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A 7 = F v v k (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
A A o = JL (mg/L) <0.001 <0. 001 <0.001 <0. 001 4 <0. 001 <0.001 <0.001
+ D) b — b (mg/L) <0.00005|  <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= = ¥ <1 <1 <1 <1 4 <1 <1 <1




5) B L TR RIEIKIRIK ok 360 5840 115K S B O Sl R 08 01 s BT IR 2

BN TR KRR (D 1)

[7S
A

JKHEK)

K /] 4 5 6 7 8 9
e 0 0 0 0 0 0
- i # B (CFu/mD) | B A 0 0 0 0 0 0
) 0 0 0 0 0 0

o4
N 1 5415

) - - - - - -
B | <0.001  <0.001| <0.001| <0.001| <0.001| <0.001
i K& O o b & W (mg/L) | &K <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
S| <0.001|  <€0.001]  <0.001| <0.001| <0.001| <0.001
i <0. 03 <0.03 <0.03 <0.03 <0. 03 <0. 03
g &k O % o bt & ¥ (ng/l)| &K <0.03 <0.03 <0.03 <0.03 <0. 03 <0.03
= Jrg| o <0.03|  <0.03]  <0.03]  <0.03]  <0.03|  <0.03
| <0.001]  <0.001]  <0.001| <0.001| <0.001| <0.001
<~ H RO EDOALE Y (ng/L) | KIE| <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
%t Sl <0.001)  <0.001]  <0.001| <0.001| <0.001| <0.001
o4 13.3 15.8 15.7 15.2 15.1 13.9
®woikt B A A v (mg/l) | 12.5 15.2 13.9 11.8 12. 4 11.4
H 1) 12.9 15.5 14.8 13.5 13.8 12.7
i 0.8 0.9 0.9 0.7 0.7 0.7
A s 7 (TOC)  (mg/L) | i 0.7 0.8 0.9 0.6 0.6 0.7
g RVIAS) 0.8 0.8 0.9 0.6 0.6 0.7
4] 7.54 7.59 7.54 7.53 7.56 7.59
pH B IR 7.52 7.51 7.53 7.49 7.47 7.57
) 7.53 7.55 7.54 7.51 7.52 7.58
IS BERU| RS U RS LU RERL BRERL | RERL
! £ WP U\ RER L RER L BRERL | BRERLIEERL
4] 0.5 0.5 0.5 0.5 0.5 0.5
=) BB |RIK 0.5 0.5 €0.5 0.5 0.5 0.5
S| 0.5 0.5 0.5 0.5 0.5 0.5
4] 0.03 0.03 0. 02 0.03 0. 02 0.01
] () | 0.03 0.02|  <0.01 0.03 0.01|  <0.01
RIS 0.03 0. 02 0.01 0.03 0.02|  <0.01
) 3 15 0. 74 0.71 0. 66 0. 66 0.70 0.71
Sl M % OB % (ng/l)|[IE 0.73 0.63 0.63 0. 66 0.59 0.63
: Tt 0.74 0. 67 0. 64 0. 66 0. 64 0. 67
;E; & 0. 80 0.80 0.73 0.76 0.74 0.77
% % B i) F (mg/L) | FI& 0.79 0.72 0. 72 0.72 0. 66 0.76
% RIS 0. 80 0.76 0.73 0.74 0. 70 0.77
E Y% KMo,  # &) (ng/L) 1.0 0.8 1.1 0.9 1.1 1.0




10 11 12 1 2 3 %4 =311 4159 R
0 0 0 0 0 0
0 0 0 0 0 0 24 0 0 0
0 0 0 0 0 0
24 -
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.03|  <0.03/  <0.03|  <0.03  <0.03  <0.03
<0.03|  <0.03]  <0.03|  <0.03  <0.03  <0.03 24/ <0.03|  <0.03  <0.03
<0.03|  <0.03/  <0.03|  <0.03  <0.03  <0.03
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24| <0.001| <0.001] <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
12.3 13.0 15.0 15.0 17.5 12.6
7.4 11.4 14.3 14.6 16.6 12.6 24 17.5 7.4 13.7
9.8 12.2 14. 6 14.8 17.0 12.6
0.8 0.7 0.8 0.8 0.9 0.9
0.6 0.7 0.7 0.8 0.8 0.8 24 0.9 0.6 0.8
0.7 0.7 0.8 0.8 0.9 0.9
7.54 7.55 7.57 7.56 7.55 7.53
7.51 7.49 7.54 7.51 7.54 7.50 24 7.59 7.47 7.53
7.52 7.52 7.56 7.54 7.54 7.52
B U RERL | RE2 0 B L BER LI REFERL 24 R L
B U BER L BRERL| B L B L | BERL 24 BERL
0.5 0.5 <0.5 0.5 <0.5 0.5
<0.5 0.5 0.5 0.5 0.5 0.5 24 0.5 0.5 <0.5
0.5 0.5 <0.5 0.5 <0.5 0.5
0.01|  <0.01 0.04|  <0.01 0.03 0.03
<0.01]  <0.01 0.01| <0.01| <0.01|  <0.01 24 0.04| <0.01| 0.014
<0.01|  <0.01 0.02|  <0.01 0.02 0. 02
0.77 0.75 0.75 0.72 0.75 0.72
0. 66 0. 70 0.71 0.71 0. 66 0.69 24 0.77 0. 59 0. 69
0.72 0.73 0.73 0.72 0. 70 0. 70
0.81 0.79 0.82 0. 77 0. 80 0.77
0.71 0.76 0.76 0.76 0.75 0.74 24 0. 82 0. 66 0.76
0.76 0.78 0.79 0. 77 0.78 0.76
1.5 1.0 ) 1.1 1 1.1 24 1.5 0.8 1.1




B 7= R e ARKIEAK (2D 2)

K / 4 5 6 7 8 9
i 18.8 23. 1 26.0 29.5 30. 4 26. 7
7K B (O |&KK 15.5 21.2 23.1 27.5 30.3 25.9
Tty 17.2 22.2 24. 6 28.5 30. 4 26. 3
] 31.4 33.4 33.0 31.4 32.2 32.0
7 iz 7 j B (mg/L) | i 31.1 33.1 32.8 31.2 28.5 28.8
St 31.2 33.2 32.9 31.3 30. 4 30. 4
L B (mg/L) 2.0 1.4 2.5 1.2 1 1.4
il [i73 f& = #  (mg/L) 0. 80 0.91 0.79 0.73 0.79 1.02
it i3 A i > (mg/L) 18.3 18.4 18.4 17.2 21.5 21.1
Bly o v » A @ E (meg/l) 30 31 29 2% 29 27
~ 7 F ¥ v A O (ng/L) 9 9 9 7 9 8
I B 15.5 17.4 17.1 17.3 17.1 16. 6
CE S U B . (mS/m) | Flk 15.1 17.0 16. 4 15.1 16.0 15.6
¥ 15.3 17.2 16.8 16.2 16.6 16. 1
g s 7 i3 F# (mg/L) 10.3 9.1 8.5 8.5 8.5 7.6
Bl 0.033)  0.047|  0.039]  0.027|  0.031]  0.031
%4 B O m ok B BI&|  0.030)  0.035| 0.034| 0.023] 0.028/  0.028
SE#gl 0 0.032)  0.041)  0.036]  0.025|  0.030|  0.030
e fm o e 5 W E (ng/l) 0.064|  0.058 0. 045 0. 035 0. 035 0. 029
WO 9RO (O ) (mg/L) 0.001|  0.001|  0.001| <0.001| <0.001| <0.001
7Y 7 s AR Y T A (E/20L) 0 0




10 11 12 1 2 3 %4 =311 4159 R
23.0 18.6 15.4 10.5 10.5 13.4
20. 3 14. 1 12.0 7.8 8.0 12.3 24 30. 4 7.8 19.3
21.6 16. 4 13.7 9.2 9.2 12.8
30. 6 31.8 31.5 31.5 32.1 28.5
20. 4 29. 8 27.9 31.0 30. 6 28. 2 24 33. 4 20. 4 30.5
25.5 30. 8 29.7 31.2 31. 4 28. 4
1.5 1. 1.9 1.6 1.8 1.9 12 2.5 1.2 1.7
0. 86 0. 66 1.10 0.79 1. 06 0.65 12 1.10 0. 65 0.85
17.8 17.1 19.9 17.0 19.7 15.4 12 21.5 15. 4 18.5
27 28 31 30 30 27 12 31 26 29
8 7 9 8 8 8 12 9 7 8
15.6 15.6 16.9 16.3 18.1 14.9
13.8 14.6 16. 6 16. 0 17.3 14. 4 24 18.1 13.8 16. 1
14.7 15. 1 16.8 16. 2 17.7 14.6
8.5 9.8 11.6 12.0 13.5 11.6 12 13.5 7.6 10.0
0.031| 0.028/ 0.036| 0.033] 0.037| 0.032
0.026|  0.028/  0.036| 0.029/ 0.031|  0.027 24/ 0.047|  0.023/  0.032
0.028)  0.028] 0.036| 0.031] 0.034] 0.030
0.034|  0.019|  0.045|  0.024| 0.029| 0.034 12| 0.064| 0.019|  0.038
<0.001| <0.001| <0.001| <0.001| <0.001|  0.001 12| 0.001| <0.001| <0.001
0 0 4 0 0 0




BN 7= R taKieK (2D 3)

A
g 4 5 6 7 8 9
BRI U LAEOBEONAAAEY (g/L) <0.0003|  <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
A KR O F o A M (g/L)| <0.00005 <0.00005| <0.00005| <0.00005| <0.00005 <0.00005
v v kB ZE 0L A& P (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
b # kK O ZF o b A W (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
N iy v A bt A W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i filf i3 i3 = # (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
YT A A kALY 7~ (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
i B2 R %= K & OVl Y R RE &= K (mg/L) 0.8 0. 96 0.79 0.73 0.79 1.02
7 v % Kk O ZE O b & ¥ (ng/l) <0. 08 0. 09 0. 09 <0. 08 0.11 0. 09
AU H#FH RO ZE O AW (ng/l) 0.1 0.1 0.1 0.1 0.1 0.1
i iy 1k, iR F# (mg/L) €0.0002|  <€0.0002| <0.0002| <0.0002| <0.0002|  <0.0002
L4 — Y & X B v (ng/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
TITUM LT RETT ES BT e <0.004]  <0.004] 0,004 <0.004]  <0.004|  <0.004
Y 7 w uw A % v (ng/l) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
¥(l= v 5 7 v v = F L v (gl <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
kU 7 B v = F L > (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ v ¥ > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
#e | F i (ng/L) <0. 06 <0. 06 <0. 06 <0. 06 0. 06 <0. 06
7 = = e iz (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = 7 L 2 (mg/L) 0. 004 0. 005 0. 008 0. 007 0. 008 0. 005
w |¥ s & & At H& (mg/L) <0. 003 <0. 003 0. 004 0. 004 0.004|  <0.003
v 7 m® 2 v om A & v (mg/l) 0. 003 0. 005 0. 006 0. 004 0. 006 0. 005
B F /% (mg/L) <0. 001 <0. 001 <0. 001 0.001 0. 002 0. 001
BN U N B A X v (mg/L) 0.011 0.016 0. 023 0.017 0. 023 0.017
H ~ ] s wm wm F O (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
7 v T Y 7 m v A &% v (ng/l) 0. 004 0. 006 0. 008 0. 006 0. 008 0. 006
7 = £ i JL 2 (mg/L) <0. 001 <0. 001 0. 001 <0. 001 0. 001 0. 001
A A A 7T A F B K (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
o & O F o b & % (mg/L) <0. 1 <0.1 0.1 0.1 0.1 0.1
TN =0 LAKOZOEY (ng/l) 0.03 0. 05 0. 04 0. 05 0. 06 0.05
M ok O = o &t & W (ng/l) <0.1 <0.1 <0.1 <0.1 0.1 0.1
T rFU T ALK DYEOAAEYW g/ 13.4 14.2 14.9 12.6 15 12.7
AN T b v Ty A% (EE) (mg/L) 39 40 38 33 38 35
7 i 7% 4 (mg/L) 79 90 96 82 98 89
z 4 A v F m E B A (mg/L) <0. 02 0. 02 0. 02 0. 02 <0. 02 <0. 02
v - %+ 2 2 > (ng/L) <1 <1 <1 <1 <1 <1
2- A F v A4 Y KNV % F — )b (ng/L) <1 <1 <1 <1 <1 <1
¥ A4 F v K om & B Al (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 - J — IV $H (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
7T T E A RXEOREY (ng/L) <0. 002 <0. 002
v 7 v kO O LA W (mg/l) <0. 0002 <0. 0002
= v F Vv k™ Z o0 E Y mgl <0. 002 <0. 002
Le- ¥ 7 m o#m x= % ¥ (mg/L) <0. 0004 <0. 0004
~ )2 ES > (mg/L) <0. 04 <0. 04
|7 A NVEEY Q- F o~ F ) (mg/L) 0. 01 <0.01
i iy g F iz (mg/L) 0. 06 <0. 06
HI> 7 m a7 % b = F U 4 (mg/l) <0. 001 <0. 001
;; wmoook 7 oz 5 — )L (mg/L) 0. 002 <0. 002
& | B i <1 <1
H |l e 74 iz (mg/L) 1.8 1.2 2.2 1.1 1.3 1.2
BlLLi- F UV 7 v v = % > (ng/L) <0. 03 <0.03
A F)—-t-7 F ) —F )b MBE) (mg/L) <0. 002 <0. 002
B & G E (TON) 1 1 1 1 1 1
A A 7\ -1.4 -1.3 -1.3 -1.3 -1.3 -1.3
(s & ES i gl (CFU/m1) 0 0
Ll — Y 7 v o =xF L v (mg/l <0.01 <0.01




10 11 12 1 2 3 [EIE*S 54 54158 B a)
<0.0003|  <0.0003|  <0.0003|  <0.0003| <0.0003|  <0.0003 12| <0.0003|  <0.0003|  <0.0003
<0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 12| <0.00005| <0.00005| <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0. 86 0. 66 1.1 0.79 1. 06 0. 65 12 1.10 0. 65 0. 85
0.09 0.08 0. 08 0.09 <0. 08 <0. 08 12 0.11 <0. 08 <0. 08
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 0.1 0.1
<0.0002|  <0.0002|  <0.0002|  <0.0002| <0.0002|  <0.0002 12| <0.0002|  <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 12 0. 06 <0. 06 <0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
0. 006 0. 004 0. 005 0.003 0.003 0. 004 12 0. 008 0.003 0. 005
<0.003 <0.003 <0. 003 <0. 003 <0. 003 <0. 003 12 0. 004 <0.003 <0.003
0. 005 0. 003 0. 004 0.003 0.003 0.003 12 0. 006 0.003 0. 004
0.001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 0. 002 <0. 001 <0. 001
0.018 0.011 0.014 0. 009 0.010 0.011 12 0.023 0. 009 0.015
<0. 003 <0.003 <0.003 <0. 003 <0. 003 <0. 003 12 <0. 003 <0.003 <0.003
0. 006 0. 004 0. 005 0.003 0. 004 0. 004 12 0. 008 0.003 0. 005
0.001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 0.001 <0. 001 <0. 001
<0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 12 <0. 008 <0. 008 <0. 008
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0. 05 0.03 0.03 0. 02 0. 02 0. 02 12 0. 06 0. 02 0. 04
<0.1 <0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
12.7 11.2 14.5 13.2 15.0 11.6 12 15.0 11.2 13.4
35 35 40 38 38 35 12 40 33 37
87 94 108 101 100 101 12 108 79 94
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005|  <0.0005| <0.0005/ <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005|  <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4| <0.0002| <0.0002|  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4| <0.0004| <0.0004|  <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0. 01 <0.01 4 <0.01 <0.01 <0.01
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
0. 002 <0. 002 4 0. 002 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
1.3 1.3 1.7 1.4 1.6 1.7 12 2.2 1.1 1.5
<0. 03 <0. 03 4 <0. 03 <0. 03 <0. 03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.4 -1.4 -1.4 -1.5 -1.5 -1.6 12 -1.3 -1.6 -1.4
2 0 4 2 0 0
<0. 01 <0. 01 4 <0.01 <0.01 <0.01
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1,3—Y7un7ua~X (D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X ZK) (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0.001 <0.001 <0.001
24 — D (24 — P A ) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T v o = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 - = - — K (mg/L) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
7 ]\ v D% v (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4] <0.0001| <0.0001| <0.0001
7 = =4 iR Z (mg/L) | <0.00005 <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
7 2 ~ = A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = V4 o — JL (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y X ¥ F  F > (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 Y 7 = ¥ & A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A4y 7uaHBH 7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
Ay 7uaF A7 (IPT) (mg/L) <0.003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A 7N KRAXA(IBP) (mg/l) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 X 7 7 Z ¥ v (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v X 7 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
— 2 7 v H ) 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 4T = AR (=Y T =R A EDDP) (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
B 7 = v 7 v v 7 A (ng/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008|  <0.0008
TR TY = (mraxy—u) (ng/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
T RANLNT 7o (R ) (ng/L) <0.0001| <0.0001| <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
F % % 2 7 g X K v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X 8 (F M H) (mg/L)| <0.0004] <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Uy % 2 F v v v (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
71 z B 7N Z (mg/L) | <0.000006| <0.000006| <0.000006| <0. 000006 4| <0.000006| <0.000006| <0. 000006
B 7 = v A k7 — b (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
Vi % v 4 7 (mg/L)

SNy (N A C)  (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
71 Jb R 7 = > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /27 732 (A CN ) (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
X Y - b > (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0.003 <0. 003 <0. 003
7 N JL =4 > (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 ) R A — ~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
J v Ak ¥ x — b (mg/L)

7 o owa X 7 v v 7 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
su)r=ra 7=z (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 oowm b v U A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
souXua=,)L(TPN) (mglL) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 -+ D% > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v ey (DCMU) (mglL) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
7 ur~X=,L (DBN) (mglL) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
ru )R A (DDVP) (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
D4 7 7 4  (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
D ZNVIRR Y (mF I F A ARY)  (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
P4 + 7 J > (mg/L)

CFA I N AN A=FFREIK (ng/l)

D4 va 7 . JL (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o nm R v 7 F b (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y A X A b U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002|  <0.0002
R 8 T — ~ (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v A I ) v (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
Y X ¥ L — k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
X A 7 a4 > (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
vd A VN =i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
y\/“f‘)]\\ A KN (77“/§A) (mg/L)

BEORAF A FF LT F— b
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F 7 2 = JL (mg/L) <0.001 <0. 001 <0.001 <€0. 001 4 <0. 001 <0.001 <0.001
F % = 2 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
F X ¥ h v 7 (mg/L) <0. 0008 <0. 0008 <0. 0008 <0. 0008 4 <0. 0008 <0. 0008 <0. 0008
F A4 7 7 F— b A F )L (ng/L) <0.003 <0. 003 <0.003 <0. 003 4 <0. 003 <0.003 <0. 003
F o+ N G v T (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7> 7 U b U F v (mg/L)

TNT AT (MBPMC) (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
l\ ) 7 o v L (mg/L) <0.00006|  <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
U Zma Ak (DEP) (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
kU ¥ s 7 v — 3 (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0.001
Uz v Z U v (mg/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
+ v = A 3 K (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
2 > = — I (mg/L) <0.00005|  <0.00005|  <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= ~ = R 2 (mg/L) <0.00005|  <0.00005|  <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= = 7 =] = JL (mg/L)

vz v ¥ v 7 = v (mg/l) <0.00004|  <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7V x—hkF (YL —F) (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
vy X 7 o= v F A v (mg/L) <0.00005|  <0.00005|  <0.00005|  <0.00005 4| <€0.00005| <0.00005| <0.00005
v U 7 F 4 o 7 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
= =4 ¥ = > (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 4 7 & = JL (mg/L) | <0.000005| <0.000005| <0.000005| <0.000005 4| <0.000005| <0.000005| <0.000005
Jxz=braF A (MEP) (mg/L) <0. 0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
Zx) 7 V7 (BPMC) (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 S ) N a v (mg/L)

72 F A (MPP) (mg/L) <0.00006|  <0.00006| <0.00006| <0.00006 4] <0.00006| <0.00006| <0.00006
7z bhrx—hK(PAP) (ng/L) <0.00007|  <0.00007|  <0.00007|  <0.00007 4| <0.00007| <0.00007|  <0.00007
7 = v b 7 ¥ I F (mg/l) <0. 0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
= VA 7 A K (mg/L) <0. 001 <0.001 <0. 001 <0.001 4 <0. 001 <0.001 <0. 001
7 X /AR — L (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 vl N R A (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 7 v 7 = ¥ v (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 ) 7 Y A (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 v F 7 7 v — ) (ng/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A= v 2 F v (mg/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
7 v F A K A (mg/L)

7 v ¥ 2 F vV — J (ng/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 B =S A 2 K (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 o X F J — L (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 i T 7 Ea K (mg/L) <0.001 <0.001 <0. 001 <0.001 4 <0.001 <0. 001 <0.001
~ J 3 JL (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
~ v D 7 =4 v (mg/L) <0.001 <0.001 <0. 001 <0.001 4 <0.001 <0. 001 <0.001
N v v v 7 oua v (ng/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
X v 7 2 F oy 7 (mg/L) <0.00005|  <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ b b ' v (mg/L) <0.002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N v T 4 A KE Y v (mg/L) <0. 003 <0.003 <0. 003 <0.003 4 <0.003 <0.003 <0.003
~N 7T U 7 (mg/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
R F) o (R2aY ) (ng/L) <0.0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
~N v 7 L ok — Kk (mg/L) <0. 0007 <0. 0007 <0. 0007 <0. 0007 4 <0. 0007 <0. 0007 <0. 0007
x A F 7 ¥ — T (mg/L) <0.00003|  <0.00003|  <0.00003|  <0.00003 4| <0.00003| <0.00003|  <0.00003
~ T F A (~ T ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa7uay 7 (MCPP) (mg/l) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A v 2 JL (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A vl 7 ¥ > L (mg/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
AFHEF A (DMTP) (mg/L) <0.00004|  <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
XA F v ¥ 4 A~ v v (ng/l) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A M I 7 A b 1 B v (ng/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
A k U 7 v > (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <€0. 0003 <0. 0003 <0. 0003
A 7 = F v v k (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
A A o = JL (mg/L) <0.001 <0. 001 <0.001 <0. 001 4 <0. 001 <0.001 <0.001
+ D) b — b (mg/L) <0.00005|  <0.00005|  <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= = #8 <1 <1 <1 <1 4 <1 <1 <1




